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DANCE/DRAMA/THEATRE
PAPER —1I
SPECIAL INSTRUCTIONS

1. Candidates are required to answer all the 25 questions in Part-1, which are ?%”{:_:Ig
compulsory. They should also select any one from Part-1l and Part-Ill and | e
answer all the 25 questions of that Part only. Each question carries two |Comiery
marks. -

2. Candidates are required to mark clearly on the OMR Answer Sheet, the Part “fog'r
Number which they have selected. i

PART -1

Common to Dance and Drama / Theatre

1. The Character “BRIHANNADA” is associated with :

(A) Dance (B) Drama
(C) Painting (D) Sculpture
2. ‘Urmila’ is :
(A) Vasaka Sajjika (B) Utkantitha
(C) Prashita Bhartika (D) Kalahantarika

3. Match the items in List-I with that of List-II.

List-1 List-II
(a) Talapuspaputa (i) Hasta
(b) Anjali (i) Shirobeda
(c) Akasiki (iii) Chari
(d) Akampita (iv) Karana
Codes

(@ () (o (@
(A) Gv) (@) @) ()
(B) @) @ G )
© Gv) @ (D) (i)
(D) @) @) @) Gv)



I / ek [ T
9T —I1

fagm germd

1. Thenel WET-1 o |t 25 U9l o SIS | I8 9T ifamd § 1 gdemeft 911 3R

UT-111 § O forell Teh WIT ok W 25 U901 & IS | Yodeh 9 & ol 3Tk & |
2. gaemeft STat T W sl OMR STUT § o &9 9 3ifehd i |

HRT—1

T/ Aeeh /TmHe At & fo

1. “'Jeerer’ o ey e A fre 9 e e

(A) ™ (B) <k
(C) TeosrRen (D) g smen
2. ‘m’ﬁﬁﬁ%\’:
(A) TEh GisTent (B) Scehiodl
(C) I ARfcehT (D) heTg=eht
3. gar-14 feu e el 1 g1 H fu e Aei 9 fiemsy
get-1 get-11
(a) TSI () T
(b) efefa (i) Torrerer
(c) SATeRIITR (i) =
(d)  3TeRfYd (iv) O
Fie :
(@ (b)) () (@
(A) (v) (@) (@) (i)
(B) () (@) () (iv)
Q) (v) (1) (D) (i)
(D) @) @) @ ()
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4.  Which one is correctly matched ?
(A) Tapas Sen and Sets

(B) Girish Karnad and Kathakali

(©

(D)

Tejjan Bai and Jatra

Vempathi Chinna Sathyam and Kuchipudi

5. Uddipana is a :
(A) Rasa (B) Vibhava (C) Anubhava (D) Sattvika

6.  Which one is correctly matched ?
(A) Saroj Khan and Shehnai (B) Ravi Shankar and Sarod
(C) Zakeer Hussain and Tabla (D) Amjad Ali and Sitar

7. The author of ‘Abhinaya Darpana’ is :
(A) Nandi Keshwara (B) Bhasa
(C) Bharata (D) Sarangadeva

8.  The Khandita Nayika Classification is according to :

(A) Age (B) Temparament

(C) Social Status (D) Relationship with Nayaka
9. Assertion (A) : The term Poorva Ranga denotes the priliminaries.

Reason (R) : It has got no connection with the story.

Codes :

(A) (A) and (R) both true
(B) (A) and (R) both false
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

10. Assertion (A) : According to Indian Classical Theatre (Natya) the Acting was a
Commentary.

Reason (R) : It is narrative in Nature.
Codes :

(A) (A) and (R) are false

(B) (A) and (R) are true

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

D —6507 4



4. Eﬁ@aﬁ?—mﬂﬁﬁﬁ%:
(A) AU I 3R HH
(C) fa=mamg ik S

5. ﬁwaﬁ@w%

(A) ™ (B) fawa

6. E‘!’ﬁﬁ?ﬁ'—fmfﬂﬂﬁ%
(A) TS GH IR IR

(C) e gE 3R i

7. ‘AT <Y1’ 1 oRgh HIF ®
(A) FfChweR (B) W

e FTe 3R et

oo

Safq e Tem 3R Hfege

8. wifean wfaeht o1 afientor 3 § fohweh SATAR T

(A) =
(C) HHINSH&R

(B)
(D)

9. R (A): Jd U ¥R Wk TARI Rl Fiad L & |

qeh (R): SHH HATH DS Gaie T8l ¢ |

Fie :

(A) (A) 3R (R) ST LT 7 |
(B) (A) 3R (R) Sl TTerd ¥ |
(C) (A) T T, T (R) e T |
(D) (R) Tl &, T (A) T § |

~"

10. hHUT (A): TR ARSI TTHE (A=) & STTAR A Th FUF |

Teh (R) :
Hie :
A) (A) 3R (R) SHI Tord B
B) (A) 3R (R) THI Hel |
C) (A) TR T, W (R) Tod g |
D) (R) ¥l T, T (A) Tod g |

ST Fhid JAHF T |

~"

(
(
(
(
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11. Which one is the correct sequence ?

(A) Avatarana, Arambha, Ashravana, Pratyahara
(B) Arambha, Avatarana, Pratyahara, Ashravana
(C) Pratyahara, Avatarana, Arambha, Ashravana
(D)

Ashravana, Arambha, Avatarana, Pratyahara

12.  Which one is the correct sequence ?

(A) Bhasa, Ashwagosha, Sudraka, Kalidasa
B) Ashwagosha, Bhasa, Kalidasa, Sudraka
Kalidasa, Bhasa, Sudraka, Ashwagosha
Sudraka, Ashwagosha, Kalidasa, Bhasa

13. Assertion (A) : Ancient Sanskrit Plays dealt mostly with Shringar.
Reason (R) : All the other Rasas are Secondary.
Codes :
(A) (A) and (R) are both true

B) (A) is true but (R) is false

(A) and (R) both are false

(R) is true but (A) is false

14. Assertion (A) : The underlying Unity of all Indian Arts is Rasa.
Reason (R) : Natya Shastra speaks of Nine Rasas.
Codes :
(A) (R) is true but (A) is false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) Both (A) and (R) are false
15. Which one is the correct sequence ?
(A) Dhananjaya, Bharata, Rajashekara, Abhinav Gupta
(B) Bharata, Rajashekara, Abhinav Gupta, Dhananjaya
(C
(D

) Abhinav Gupta, Dhananjaya, Rajashekara, Bharata
) Bharata, Abhinav Gupta, Dhananjaya, Rajashekara
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11.

12.

13.

14.

15.

THIA TR FA DA AR :

(A)  3TEAUl, 3TRH, 30, TARR
B) 3ANH, ST, YARR, S0
C) YRK, e, 3RY, SFe0
D) AT, 3RH, 3T, TABR

(
(
(

Y § el HH HH-91 S :

(A) WY, TS, YR, FHifere™
(B)  STYTEITY, WTH, Shifciar™, ekl
(C) HIFICIE, ITH, Y[Eehl, STYETES
(D)  TIEehI, YT, FHIfcIaE, 9

AT (A) : T T ATeeh SATYHING: R 9§ Fafed 9 |
qeh (R): 1= TG o1 AT 707 em |

Hie :

(A) (A) 3R (R) T T T
(B) (A) T &, W (R) 7Temd T |
(C) (A) 3R (R) ST Terd ¥ |
(D) (R) W& ¥, g (A) T T

HYT (A) : Tt RATT FHersil S T Tehdl W T
qeh (R): e O B 9 TG 1 90H B |

Fie:

(A) (R) e §, g (A) T T
(B) THI (A) 3R (R) T |
(C) (A) T T, T (R) T T |
(D) THI (A) 3R (R) T T

THAAA FA DA AE?

(A) HFSHE, YR, TSRIER, STTYad
(B) I, USTIGR, STTHTeNH, s
(C) SITYEH, g, TSGR, 9id
(D) X4, ST, e, TSTRIER
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16.

17.

18.

19.

20.

Match the items in Lis#-I with that of List-II :

List-1 List-1I
(A) Jhumar (i) Mizoram
(B) Bamboo Dance (i) Kerala
(C) Kai Kotti Kali (iii) Bengal
(D) Laiharaoba (iv) Manipuri
Codes

(@ ® () @
(A) (@v) @) G0 @
(B) @) @ @) (v)
© @ @) @@ (@v)
(D) (v) @) @) (i)

Which one is not correctly Matched ?
(A) Birju Maharaj and Devdas

(B) Vyjayanthimala Bali and Chandalika
(C) Hemamalini and Shyama
(D) Kumudini Lakhia and the Coat

Assertion (A) : Nandi is a Venerational Verse.
Reason (R) : It belongs to Nati’s obligation.
Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

Which is the correct sequence ?

(A) Poorvaranga, Nandi, Vishwambaka, Bharatavakya
(B) Bharatavakya, Nandi, Poorvaranga, Vishwambaka
(C) Vishwambaka, Poorvaranga, Nandi, Bharatavakya
(D) Nandi, Poorvaranga, Vishwambaka, Bharatavakya

Which one of the following is the North Indian Dance form ?
(A) Kathakali (B) Manipuri (C) Mohini Attam (D)

D —6507 8
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16.

17.

18.

19.

20.

gen-14 fou e w3 =0 geit-11 ¥ fou T v | s

get-1
(A) EI‘F (i)
(B) SETA (if)
(C) IEhITgehett (iii)
(D) A (
FHiS :

@ b () @
(A) (iv) (i) () (@)
(B) (i) (@) (@) (iv)
© () (@) () (@v)
(D) (@v) @) @ (i)
0 § UE Ul I el § ¢

(A) TS TerS IR TR

(B) SSTIITHIC aTelt 3R detfersht
(C) vt SR v

(D) FHfCH afEan 3iR g &le

AT (A) : A STHA AR |

qeh (R): I8 7 & W&l 9 Hefed )
Fie :

(A) <HI (A) 3R (R) Terd & |

(B) <M (A) 3R (R) Tl ¥ 1

(C) (A) T T, T (R) T T |
(D) (R) W& ¥, g (A) T T

Y TE Y HA-AT

(A) a0, e, foveves, wd ae
(B) ¥R 9T, a1, Ioi, forwaivieh
(C) Torgeivieh, et i, wid A1
(D) &, ga, fogeives, wid o

T Y M 91 SR IRAT TA T
(A) HUHa (B) Hfurgdt

D —6507

(C) fet st

(D)

hch

P.T.O.



Read the Passage below and answer the Questions that follow based on your
understanding of the Passage.

As the political, social and individual life became more stable and normal, and
the urgency, intensity or sharpness of the struggle for religious identity gradually
weakened, many of the theatrical expressions began to lose their purely and strictly
religious, sectarian character and became more and more cultural. The Jatra of Bengal,
Terukuttu of Tamil Nadu, Veethinatakam of Andhra Pradesh or to some extent, the
Yakshagana of Karnataka are the examples of this process. They started presenting,
besides the religious stories, some historical, social and political themes, or the
mythological episodes were presented in a manner that their religious aspect was no
more predominant.

21. Another traditional form of Bengal is :
(A) Ankia Nat (B) Raslila
(C) Gambbhira (D) None of the above

22. The name of Siddendra Jogi is connected with the traditional theatre :
(A) Bhagavat Mela (B) Yakshagana
(C) Jatra (D) Kuchipudi

23. The Historical theme is mostly dealt in :
(A) Jatra (B) Veethi Natakam
(C) Terukootu (D) Yakshagana

24. The term Veethi means :
(A) Play (B)  Street

(C) Court yard (D) Temple Primises

25. The role of mask like make-up is very important in :
(A) Yakshagana (B) Jatra

(C) Veethi Natakam (D) Terukootu

D —6507 10



21.

22.

23.

24.

25.

e @ 7T 79T T Ui 3V 3qS: TN GT 3 3T 7T gl @ I I

TSiTaeh, TS 3R Safades Saq Sid &t 21fres Tl SR | gat qen anffe
ST o foTw e ot wew, dieran a1 SUaT &Y &1 A g8 1, 9gd | T A9 @t
Y51 31X TSR HTfHeRaT 3K e Tehid W B! Y& 81 T8 off 3R a8 31fueh Hitehfask aial
T | ST ST ST, TS o1 qedhe, 3TiY TQ¥l b Sefieeht a1 i 88 ek hHeh hl
& TET o SN §1 TRiA Ui el o 3Tamel $ Ufderfas, amfsrs 3R
TStifaes ol a1 off gfaffie e g o fean o a1 JRifores seeh 39 TR ¥ T
T ST 91 fop 3ok efHen U&T o1 Y 21 Taal o |

ST o1 ST TR ®9 370  hH T8
(A) STifeRaT e (B) Y wften
(©) T (D) T 9 HE T

fages Sieft o1 8 3 9 fohe oeeTd T 9 S R

(A) TEq Tl (B) F&TTH
(C) S (D) Feget
Ufceriees fore o o1 374 § fopre oX SAferen foam g -
(A) ST (B)  liefi AlehA
(C) T (D) &
el 9 qed ©

(A) TR (B) THRE
(C) S (D) Wi IRER

@I 1 YfHert S foh Top-70 378 9 fheeh fofw wod 7w ©
(A) A& (B) I
(C) et TeshH (D) TEEH
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PART -1II

DANCE
26. Tillanaisin:
(A) Manipuri Dance (B) Kathak
(C) Odissi (D) Bharatanatyam
27. Instrument ‘Pung’ is used in :
(A) Shastriya Dance (B) Jhumar
(C) Chou (D) Manipuri

28. Match List-I with that of List-II :

List-1 List-11
(a) Madal (i) Kerala
(b) Chande (i) Tamil Nadu
(c) Tabla (iii) Bengal
(d) Nadaswaram (iv) Kathak
Codes

(@ ((b) (o (@
@A) () O ) G
® O @) ) (i)
© () O @) @)
D) (v) @) (@) @)

29. Match List-I with that of List-II.

List-1 List-11
(a) Shruti Bandopadhyaya (i)  Odissi
(b) Pratima Bedi (i) Mohiniattam
() Kanak Rele (i) Bharatanatyam
(d) Chandrashekar (iv) Manipuri
Codes

(@ (b)) (o (@
@) O @ G
® v O @
© @) O @) @)
D) G @ O )

D —6507 12
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30. Assertion (A) : It is impossible to identify a Classical Dance without its costume.

Reason (R) : Costumes are identity of the form.

Codes :

(A)
(B)
(C
(

)
D)

31. Assertion (A) : All the Classical Dances have evolved from sculptures.

Both (A) and (R) are true
Both (A) and (R) are false
(A) is true but (R) is false
(R) is true but (A) is false

Reason (R) : Many temples have sculptures on their pillars.
Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

32. Ramanattam was first performed in :

(A)
(B)
(C
(

)
D)

Guruvayur Temple
Pragatheeswarar Temple
Kottarakara Ganapathi Temple

Kerala Kalamandalam

33. Which one is the correct order ?

(A)
(B)
(C
(

)
D)

Sabdam, Alaripu, Varnam, Tillana
Tillana, Alaripu, Varnam, Sabdam
Alaripu, Sabdam, Varnam, Tillana

Sabdam, Varnam, Alaripu, Tillana

34. Which one is the correct order ?

Ardhachandra, Tripataka, Pataka, Kartarimukha
Kartarimukha, Pataka, Tripataka, Ardhachandra
Tripataka, Kartarimukha, Pataka, Ardhachandra
Pataka, Tripataka, Kartarimukha, Ardhachandra

14



30.

31.

32.

33.

34.

AT (A) : o A & AT T F TEAH FEAT ST T |

qeh (R): AW ¥ & A1 Fl 9= gl |

Fie :

(A) <HI (A) 3T (R) &l |
(B) THI (A) 3R (R) Terd ¥ |
(C) (A) TR &, W (R) 7Temd T |
(D) (R)¥&I &, T (A) TTed & |

WA (A) : Tt WG T A1 forehr foredehen | gam ¥
qeh (R): ogd 9 Hied o Tl W freushet gt €1

FHiS:

(A) THI (A) 3R (R) TeTd 21
(B) <M (A) 3R (R) Tl ¥ 1
(C) (A) TR &, W (R) 7Temd T |
(D) (R) Tl &, T (A) T & |

THEATEH ool 91 379 ¥ el ge
(A) TR HfcT

(B) WTIRaRR HicX

(C) IR TTurafd HicT

(

D) hid HelTHISHH

TH AT FIIAAE :
(A) TIeeH, STARY, o, faeam
B) Tacam, STy, v, veeH

(
(C) Y, veaH, uid, faeatr
(

D) TeEH, J0MH, STy, faeemn

TH AT FA DAL
(A)  3¥=rg, TdTeT, 9amh], Faiqa
B) AT, YaTehl, FIuadrest, stefers

(
(C) Toruareht, haRe@, Tdreh, sTe=rs
(

D) Hareh, HradmenT, Safqa, te=s

D —6507 15
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35. Which one is correctly matched ?
(A) Laiharouba and Kirtan (B) Kathakali and Bhajan
(C) Kathak and Thumari (D) Mohiniattam and Dhamar

36. Which one is not correctly matched ?
(A) Rukmini Devi and Bharatanatyam
(B) Rabindranath Tagore and Manipuri

(C) Sambhu Maharaj and Kathak

(D) Guru Gopinath and Kuchipudi

37. Assertion (A) : Vaishnavism had distinct influence on Dances of India.
Reason (R) : The Classical Dances are Religion based.
Codes :
(A) Both (A) and (R) are false
(B) Both (A) and (R) are true

(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

38. Penais used in:
(A) Kathak (B) Odissi
(C) Manipuri (D) Garba

39. The author of Gita Govinda is :
(A) Charandas (B) Kalidas
(C) Jayadeva (D) Govinda Das

40. Assertion (A) : Bhakthi Rasa is one of the Navarasas.
Reason (R) : Bhakthi Rasa is a product of Vaishnavism.
Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

D —6507 16



35.

36.

37.

38.

39.

40.

Eﬁﬁ@ﬂﬁﬁﬁaﬁw%

(A) TEEEn SR i (B) kel IR
(C) ek TR A (D) Hifet 3789 3R MR
T § TE A fhaehl T ©

(A) FFN AT SR WAATTH
(B) Vel SR TR HftTqd
(C) ¥ HER 3iR FHeeh

(D) & T SR HegE

AT (A) : IUEATE I TRA & T W 3T GHTE
qeh (R): STSIT o 9 W STefia € |

Fie:

(A) <HI (A) 3R (R) Terd & |

(B) TFI (A) 3R (R) Tl |

(C) (A) T T, T (R) e T |

(D) (R)¥& &, T (A) T T |

T AR A g e e

(A) Ak (B) 3iifedt

(C) wforgd (D) TE

T e o1 @ 390 A hiH 8 ?

(A) =RURH (B) il
(C) (D) Tifa< <™

HIAT (A) : TR W TRH H A TH T
Teh (R):  vifed 4 fooEe & 9 8
Fie:

(A) THI (A) 3R (R) TeTd 21

(B) TFI (A) 3R (R) Tl |

(C) (A) TR &, W (R) 7Terd T |
(D) (R) Tl &, T (A) T & |
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41. Which one is the correct order ?

(A) Kapota, Karkata, Anjali, Swastika
B) Anjali, Kapota, Karkata, Swastika
Swastika, Anjali, Kapota, Karkata
Karkata, Kapota, Anjali, Swastika

42. According to Natya Shastra “The Chin Movement” is known as :
(A) Kuttana (B) Nata
(C) Sama (D) Lalitha

43. Which one is in the correct order ?
(A) Kathak, Manipuri, Odissi, Bharatanatyam
B) Manipuri, Odissi, Kathak, Bharatanatyam
) Odissi, Manipuri, Kathak, Bharatanatyam
D) Bharatanatyam, Kathak, Manipuri, Odissi

44. In Shilapadikaram Madhavi is :
(A) Painter (B) Singer
(C) Dancer (D) Writer

45. Which one is in the correct order ?

(A) Raga, Sanchar, Ragataba, Lambighat
B) Lambighat, Sanchar, Ragataba, Raga
Sanchar, Lambighat, Ragataba, Raga
Ragataba, Raga, Sanchar, Lambighat

46. Which one is correctly matched ?
(A) Chandalika and Rabindranath Tagore
(B) Prahlad Natak and Shankar Dev
(C) Veethi Natakam and Ankia Nat
(D) Abhinaya Chandrika and Jayadeva

D —6507 18



41.

42.

43.

44.

45.

46.

sﬂﬁﬁmﬁwﬁw%

(A) U, FHehel, 3TSfd, @i
(B) 3ASifcl, I, hishel, Wik
(C) Fafh, Sfsifel, TUId, THihel
(D) Tehel, THUM, 3TSfd, @i

TreIRIEA & STTAR ¢ < foe oo &7 9§ fohe 8 & S S @

(A) el
(C) &

Tremer § Huel T W R
(A) TR
(C) Tl

TTH YT FHHATAE :
(A) A, 9K, IS, HITEme

(B) RIS, HAN, IS, I
(C) ¥HER, iwItene, IETATE, I
(D) ATdTeH, I, H9R, STHiTeme

TH AT AARAAE?

(A) TSttt 3R T TR
(B) RIS A IR Il T

(C) @ify ek iR sifehan T
(D) AT =fgent 3R SRy

D —6507
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47. Assertion (A) : A Dance artist is a Painter also.
Reason (R) : Because he portrays on Stage.
Codes :

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

48. Mahari Dance is from :
(A) Bengal (B) Assam
(C) Orissa (D) Kerala

49. Chidambaram Natyanjali festival takes place at :
(A) Chennai (B) Ellora

(C) Coimbatore (D) Kolkata

50. Match List-I with List-1I :

List-1 List-IT
(a) Bhagya Chandra festival () Kirtan
(b) Khol (i) Sri Lanka
(c) Chutti (i) Imphal
(d) Kandyan Dance (iv) Make-up
Codes :

(@ () (o (@)
(A) () @) (@v) (i)
(B) (@) @) (v) (i)
Q) @) @ @D ()
(D) (v) @) @) ()
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47. I (A) : TA FAHR oHR ff ST ¥ |
qeh (R): Hifh 98 He W A Far g |
Hg
(A) <HI (A) 3R (R) Terd & |
(B) <HI (A) 3R (R) Tl & |
(C) (A) TR &, W (R) 7Terd T |
(D) (R) W& &, T (A) T T |

48. R T HE BT S
(A) S (B) 3T&H
(C) e (D) &

19, ToerRy Aretisie ud 379 @ Fel AT e :
(A) =S (B) TR
(C) IR (D)  ShicTehdl

50. TeE-1 gei-11 9 e

get-1 get-11
(a) IS 9d i) Rl
(b) @A (i) o <o
@ B (iii) SFATA
(d) HETA (iv) HeR-37T
HiS :

(@ B (© @
(A) (i) (@) (@v) (i)
(B) () (@) (v) (i)
© @ @ @) (v)
(D) (v) (i) (i) (D)
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PART - III

DRAMA / THEATRE

26. ‘Catharsis’ means :
(A) Purgation of Emotions (B) Melodrama

(C) Tragedy (D) Character in a play
27. In Greek Theatre early comedies were written by :
(A) Aristotle (B) Aeschylur

(C) Aristophones (D) Arion

28. Match the items in List - I with that of items in List - II :

List - I List - II
(a) Sakharam Binder (i) Badal Sarkar
(b) Evam Indrajit (i) B.M. Shah
(c) Tugalak (iii) Vijay Tendulkar
(d) Trishanku (iv) Girish Karnad
Codes

(@ ® (o (@)
(A) @) @ (@v) (@)
B @ @O @G @)
© (@v) @) @) @
(D) @® G @) @)

29. Which one of the following is correctly matched :
A) Tartoofe and Moliere

B) Cherry Orchard and Albee

C) Oedipus and Aeschyllus

D) Zoo Story and ].B. Priestly

D —6507 22



26.

27.

28.

29.

HIT - 111

ATeeh /AW
faEm' A ad ©
(A) HAITE T faE (B)  Igehdl
(C) e (D) e | |

ek TTHH o1 YRFEeR hiFe 379 | forereh R fordl T

(A) 3T (B) UFEER
(C) SRER (D) TRAA

geit-14 feu U wei b get-1 § fou T wel @ faems
get-1 get-11
@Y e X i) O THR
LECEEEIn] i) o.TH. IE
i) fosm dgaret
iv) s sre

T 9 Tt oo fraen €
A) ARgH 3R Hife=r
B) = TS IR 3Teel

C) sfeud iR e
D) TR RS,

(
(
(
(
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30. In Sanskrit Theatre “‘Mattavarini’ means :
(A) Stage
(B) Pillar with Carving of Elephants
(C) Controlling Emotions
(D)

A Pond in front of the Stage

31. According to Sanskrit Theatre the word “Yawanika” means :
(A) Curtain (B) A person from Greece
(C) Character (D) A play house

32. The term ‘Skene’ is related to :
(A) Indian Theatre (B) European Theatre
(C) Greek Theatre (D) Avant Garde Theatre

33. According to Natya Shastra ‘Kridaniyka” means :
(A) Sport Gear (B) Plaything
(C) Director (D) Playwright

34. Assertion (A) : The Dramatist is Absent from Drama, He does not speak.
Reason (R) : The Drama is not written. It is set.
Codes :
(A) Both (A) and (R) are false

(B) Both (A) and (R) are true
(C) (A)is true, (R) is false
(D) (A) is false, (R) is true

35. Assertion (A) : A man portrayed on the stage is significant as a social function.
Reason (R) : Because of his relationship to God.
Codes :
(A) Both (A) and (R) are true

(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false
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30.

31.

32.

33.

34.

35.

&k | T | qead ©
(A) #F

(B)  TIefl ol TorehTelt ot &Y
(C) HAIHmE o =T

(D) 4 % HMA & qA

H&hd TTHE & 3TER ' Jaf1eht’ vsg 1 312 §

(A) &I (B) I\ w1 =
() = (D) &
‘ﬁ'?@ﬁ%%:

(A) R A (B) A T
(C) ik TH" (D) Ted e WA

AT & STER ‘shieTas § aead §
(A) T firRr (B) e i
(GEREERED (D) FIEHHR

HIUT (A) : TEHHR A2k H STTURET Tl & | I8 el et |
qeh (R): e foran -Tel St | S9eht T hi St ©
Fie:

(A) THI (A) 3R (R) TeTd 21

(B) <Ml (A) 3R (R) el |

(C) (A) T T, 3R (R) T T |

(D) (A) e T, 3R (R) Tl T

YT (A) : T AfK S Hd T IHA FAT 8 | T8 G S8 H Teegul & ¢ |

Tqeh (R): itk SHF WA d T B 2 |
Fie:

(A) THI (A) 3R (R) T ¥ |

(B) THI (A) 3R (R) Terd ¥ |

(C) (A) TR &, W (R) 7Terd T |

(D) (R) W& ¥, g (A) T T
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36.

37.

38.

39.

40.

Assertion (A) : After 1880’s Dramatist Strindberg, Zola, Maeterlink and others turned

to one act.

Reason (R) : To save Dramatic Style and presenting it as a future oriented style.

Codes :
(A) Both (A) and (R) are true

(B) (A) is true (R) is false
(C©)  (R)is true (A) is false
(D) Both (A) and (R) are false

Which is in correct order ?

(A) Actor, Script, Director, Audience

(B) Audience, Script, Actor, Director
(C) Director, Actor, Script, Audience
(D) Script, Director, Actor, Audience

Which is in correct order ?

(A) Naturalism, Absurd, Epic Realism, Realism

(B) Realism, Naturalism, Absurd, Epic Realism
(C) Absurd, Epic Realism, Realism, Naturalism
(D) Epic Realism, Absurd, Naturalism, Realism

Which one is correctly matched ?

(A) Poetics and Aristotle

(B) Play Azax and Euripedies
(C) Play Mudra Rakshasa and Sri Harsha
(D) Poetics and Plato

Which one of the following is not correctly matched ?

(A) Abhinava Gupta introduced Shanta Rasa

(B) In Japanese Theatre onnagata means female Impersonator
(C) Play Mudra Rakshasa was written by Vishaka Datta
(D) ‘Kavyeshu Natakam Ramyam’ is Saying of Bhavabhooti
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36.

37.

38.

39.

40.

TR (A) : 1880 % IQ AChhR e, S, HHalcieh T Tehichl i T I T |

qeh (R): 71T St ohl GRaf Wa 9 Talt Seit o STJehel U&qd i o ot |

HiT :

(A) <HI (A) 3T (R) &l |
(B) (A) T &, W (R) 7Temd T |
(C) (R) W& &, W (A) T T
(D) TFI (A) 3R (R) TeTd €1

THFATTH A DAL

(A) HATHR, Hiedr, faemn, e
(B) <Xidh, Hfeal, swemer, iR

(C) faderh, wamehR, wifean, <ufw

(D) wfed, e, HemhR, T2
THIATR FA DA AR :

(A) FETHITTeRdI, STHT, HeThIe AeaTe, JUTefare
(B) AurelaTe, TATIferhdl, STETI, HEThIeT Jeefdrg
(C) 3THTd, HRTehTedl AeaTs, Fnefare, @ ifashal
(D) WIS Aqedale, TG, TarIforehdl, Ferefarg

T 9 98 T A ©

(A) HTHRE 3R 3RE]

(B) ek TsTe AR FLufed
(C) e HEerd AR off g4
(D) HTHREA 3R @l

TTH 9§ I oo el TR ¢
(A) AT TE 7 w0id I 1 G R |

B) ST e B STRIRTAT ST 31 § AR U T S |

(
(C) TENI&TH ek i T T <d 51 &8 |
(D) 1Y ekt TH YaYfd FI He T |
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41.

42.

43.

44.

45.

46.

In Sanskrit Theatre ‘Kutapa” means :
(A) Pillar (B) Square
(C) Place for Musicians (D) Playwright

The Dimensions of Natya grihas of Bharat is measured in terms of :
(A) Yard (B) Hastas
(C) Feet (D) Meters

Assertion (A) : By the time of Bhava booti and Sri Harsha Sanskrit Dramas had lost
their appeal

Reason (R) : The themes lost their appeal and Sanskrit language moved away from
people.

Codes :

(A) Both (A) and (R) are false
B) (R) is true but (A) is false
Both (A) and (R) are true
(A) is true but (R) is false

Assertion (A) : A bad Actor can be a good Director.
Reason (R) : All Directors are bad Actors.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C)  (R)is true (A) is false

(D) (A) is true (R) is false

Yakshagana and Kathakali resembles each other in :

(A) Dance Style (B) Acting

(C) Make up (D) Performance

Commedia dell arts is found in :
(A) Roman Theatre (B) Theatre of Spain
(C) Italian Theatre (D) Greek Theatre
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41.

42.

43.

44.

45.

46.

H&hd GrHE a1 A ©
(A) w (B) &
(C) Sficsll b1 €I (D) CHHR

Rd H A1 &1 R IRHATOT AT ST o
(A) TS (B) B&Ih
(C) =’ (D) HieX

HT (A) : (T AR FieH o THT Toh GEHA AICHh| I STHEU] FHE & 741 7 |
qeh (R): ool oAl BTSN THTE &1 1 o7 3R GEha Mo STl & X &1 W& off |
HS:

(A) THI (A) 3R (R) TeTd 21

(B) (R) W&l B, W (A) Tod g |

(C) TFI (A) 3R (R) &t ¥ |

(D) (A) ¥l T, T (R) e ¢ |

HAT (A) : Th AIFA FHeATHR Thel I & Thall & |
qeh (R): W e STH%eT HhelhR 8 & |

Hie

(A) <HI (A) 3T (R) &l |

(B) TMI (A) 3R (R) T T

(C) (R) ¥ &, T (A) T T

(D) (A) ¥l T, T (R) e ¢ |

JETT S Herehed! S99 H fHerd © ¢
(A) 7o et ®)
(C) Heh 37T (D) IR

“iifean Tt el 30 § el IS oIl ©
(A) A A (B) ¥ I THA
(C) fem tmw (D) ek T
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47.

48.

49.

50.

Most Emphatic area in same level on stage is :
(A) Up-left (B) Down-left

(C) Down-right (D) Up-right

Which is in correct sequence ?
(A) Exposition, Rise in Action, Climax, Catastrophy
(B) Catastrophy, Rise in Action, Climax, Exposition
(C) Rise in Action, Climax, Exposition, Catastrophy
(

D) Climax, Rise in Action, Catastrophy, Exposition

Who among the following belongs to South Indian Theatre :
(A) Vishnu Das Bave (B) Gubbi Veeranna

(C) Girish Chandra (D) Shombu Misra

Who among the following is considered as the father of Tamil Dramas.
(A) Prof. G. Shankara Pillai (B) K. Shivaram Karanth

(C) Kavalam Narayana Pannikkar (D) Sri. Shankardas Swamigal

-00o0-
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47.

48.

49.

50.

THM TR % T T SRR GHTel & 379 & hiT1 ¢ -

(A) 39— (B) TRA-E
(©) S-S (D) 3T9-Tge
T Y TS FA DA AT :

(A) ITEA, AT 1 Tk, e, ez
B) Trelgwr, tfuma o forshmd, Wkt SEMEA
(C) 3Ty o forshrd, Wk, SEMeA, Heigon

(D) RIS, AT i forehrd, Tegul, Sgemed

T 9 SU- YA TTHE 9 i Helfyd ¢

(A) foroerE s (B) T S

(©) frwr== (D) g fag

TTH hiF dfHeT 1Zehi o1 ST+eh AT ST & :

(A) TR . wieR foreet (B) . FeroR i

(C)  heleTH TR feeh (D) o viter TR
-00o0-
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